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* 19BEFHEE ReFZ T EEEHEE 0.840] A 25,900 21,756 25,900 21,756 0.840| 21,756
501 M EASETE] (ResBEcxd 338 5.000{ % 58,170 2,909 0 0 0.000 0
AL TG e I E S S o R iy 1.500 % 58,170 873 0 0 0.000 0
& 61,952 58,170 1.450] 44,131
B {if 1.0 LY 61,952
EEAGE 58,170
ZTDMEE 3,782
datd (f52) Tom 1EBT AL 30m~80m 0 % &% -0.20
5




R ERERMR

FHEe 2657 | . A= 58 ERED| 260] |R=BNEEE
Hf ¥ [({ZEM = 31—FNo BRSO B 1.00 YERLE L = sxaausgn| | RTENEBHR
B & HASER 40m_ 2=0-1 # B NEEAE B o= ||REeSs0sEs)
e 5 T 1% B = |Efv| B i | & 28| B @ | = %8 5 BE ]| = 2
* 16 B E AR ReFZTEEEHEE 0.020" A 47,100 942\ 47,100 942 0.000 0
* 17 EFERE ReFEfTEEEHEE 0.080] A 36,900 2,952| 36,900 2,952 0.050 1,845
* 18[;B=BhF RefFE T EEEHEE 0.160] A 34,600 5,536/ 34,600 5,536 0.100 3,460
* 19[BEFHEENE RefFZfTEEEHEE 0.100] A 25,900 2,590 25,900 2,590 0.100 2,590
501 |#HECIEER] HesEyaas 5.000[ % 12,020 601 0 o R 0.000 0
502 | Mg GRS XK [(RESBEcT 334 1500 % 12,020 180 0 0 0.000 0
& ‘ : 12,801 12,020 0.250 7,895
B i 1.0 XHY 12,801
EEAGE 12,020
ZDHRE 781
datd (j5=) T8 EmiElk 050kmkm 0.2 Hij@ & -0.20
5




REREEMR

s 2670 = Al 58 EHES| 2000 |R=aHEE=
HMa |BEER 1-FNo B B 1.00 {ERK B {51 = sz ausemn| | FATESEBR
#£ & [IIEET 1.90ha E 20 12 & RNEEARE (BEDSE DI ES)
#E|EEN| & i R % = EH 28 | B | | & 2B HE | £ %8
* 16 B = AR ReFZTEEEHEE 1.900 47,100 89,490/ 47,100 89,490 1.900/ 89,490
* 17| Bl =R A0 ReFEMTEREEHE 1.900 36,900 70,110| 36,900 70,110 1.900| 70,110
* 18[BI S B ReFEfTEEEHEE 0.000 34,600 0| 34,600 0 0.000 0
* 19 S®mEE RefEfiT B EEHEE 3.800 25,900 98,420| 25,900 98,420 3.800| 98,420
501 [ HEREXFE] (HeeEcTIEE 5.000 258,020 12,901 0 0 0.000 0
502 MM E IS EK] [(HesEcdT3EE 1.500 258,020 3,870 0 0 0.000 0
B 274,791 258,020 7.600| 258,020
B {iff 1.0 &Y 274,791
EEAGE 258,020
ZDHRE 16,771

datal (j&=) T3 IUREEE 1.0hablE20haXkm O HRRIBEERATER 1~2@FT -0.2 HJX 2E 0.2

5




REREREMER

FHEEe 2671 | =40 58 ERES] 2011 |R=mhEE=
Bz |ZELUETERA=E 1-FNo B & 1.00 {ER BT = zx7)ausemn| | FATESEBR
# & [IIEET 1.90ha 2= 1% B NEEZEAE B o= ||[BEDsosEs)
M EfNo| & R 5 1 = |BEfy| B i | & 28 | B i | = 28 0 B3 | = 22
* 16 B =HEh ReFEIMTEEEHEE 1.520(" A 47,100 71,592| 47,100 71,592 0.000 0
* 17| A=A ReFMIEEEHEE 7.030" A 36,900 259,407 36,900 259,407 4750 175,275
* 18| BIEBIF ReFE T EEEHEE 7.030] A 34,600 243,238 34,600 243,238 4750 164,350
* 19 AEMHBE ReFZTEEEHEE 14250 A 25,900 369,075 25,900 369,075 14.250| 369,075
501 (M EZ RS XK] (Res@Ecdd3EE 5.000] % 943,312 47,166 0 0 0.000 0
502 | E (RS EH] (ReBEcT 328 1.500| % 943,312 14,150 0 0 0.000 0
5 1,004,628 943,312 23.750| 708,700
=1 fiff 1.0 XHY 1,004,628
EEAGE 943,312
ZDMIEE 61,316

data (&%)

38 LUEEm s 1.0hall E20hakis 0 RREEPIE 1~2&E AT -02 Hb;t 2£ 0.2




RAEREEMR

e 2672 | =l 58 EREDS| 2002 |REanEE=
HilA TR [({ZE LSRR = 31— No ER B 1.00 YERCE L = =25 alusen] | FRTENEBR
& [JER 250m s R 1% & NERAGSE B o= ||REess0sEs)
HR[EM@No| % 7 5 1 B = |Bf| = m | = 2| B W | = % = HE | £ 2
* 16 B E A ReFZATEEEHEE 0.250 A 47,100 11,775 47,100 11,775 0.000 0
* 17 = HEh#E RefFZATEEEHEE 2.000[ A 36,900 73,800/ 36,900 73,800 1.500] 55,350
* 18|l EBIF ReFZ T EEEHEE 3.630| A 34,600 125,598| 34,600 125,598 3.000/ 103,800
* 19BEMHBE ReFEfiTEEEHEE 3.300" A 25,900 85,470/ 25,900 85,470 3.300| 85,470
501 [ ZEBEXF] (HeLBEcHTIEE 5.000] % 296,643 14,832 0 0 0.000 0
502| MR EHEEXH] [HREBENTIEE 1.500 % 296,643 4,450 - 0 0 0.000 0
5 ’ 315,925 296,643 7.800] 244,620
B i 1.0 kXY 315,925
EEAGE 296,643
ZTDMEE 19,282
data| (B=) 28 ILREE e 1.0hallE20haskim 0 ot 2E 0.2
5




R EREEMR

& 2673 | =l 58 EhAD| 2603 |Z=mmMEEE|
Hil& % 2 LEENIE 31— No ER D& 1.00 YERCE AL = sxsaLsen| | RNENEBER
B & |fEMEk SEEET SFI9RMTIEER 70m oo 2 B NEEAE B = ||RE0SsosEs)
HR[EEN.| 2 1 % & B = |BEfu| B i | & 28| B W | = % : HE | = 2
* 16 ;B E M ReFEfTEEEHEE 1.200] A 47,100 56,520/ 47,100 56,520 1.200]° 56,520
* 1781 S H AR ReZZfTEEEHEE 1700 A 36,900 62,730 36,900 62,730 1.200] 44,280
* 18|l EBIF ReFEfiTEEEHEE 2900 A 34,600 100,340/ 34,600 100,340 2.400 83,040
* 19 Al EMfEEE RéFZ T EEEHEE 2.400 A 25,900 62,160| 25,900 62,160 2.400| 62,160
501 [ EAEXTFE] (HeeBETIEE 5.000{ % 281,750 14,088 0 0 0.000 0
502 | MR B (RS XK (NRSBENTIEE 1.500{ % 281,750 4,226 0 0| - 0.000 0
g 300,064 281,750 7.200] 246,000
B {iff 1.0 XHY 300,064
EEAGE . 281,750
: ZTDMEE 18,314
datd| (f5Z) T3 TEBTiEE 50~100m 0 Hhi 2§ 0.2
5




REREEME

T H 2 2674 | =4 58 EgES| 2004 |R=ahEE=E
H il ¥ [{ZEILEERIE 31— No {ER D B 1.00 YERRE L = =xqausen| | BATENEEBHR
B 5 S 108 FIHEMER 15m 2= # il NEEZEAHE B = ||RECSs05ES)
B |EENe| A i 5 1 B = |Efv| B i | = %8 | B | = %8 2 BHE | = %
* 16 ;B = B ReFZfiTEEEHEE 2.200( A 47,100 103,620 47,100 103,620 2200/ 103,620
* 17/ B = FEhE ReFEMTEREEHE 3.100f A 36,900 114,390/ 36,900 114,390 2.200/ 81,180
* 18 A EBIF ReFZTEEEHEE 5.300 A 34,600 183,380 34,600 183,380 4400 152,240
* 19 BEMBIE ReFEMTEEEHEE 4400 A 25,900 113,960/ 25,900 113,960 4400 113,960
501 M EEREXHE] (HeeEcdT 388 5.000 % 515,350 25,768 0 0 0.000 0
502 M EEHEEHR] |HesBE T IEE 1.500] % 515,350 7,730 0| . 0 0.000 0
B 548,848 515,350 13.200 451,000
B i 1.0 XHY 548,848
EEAGE 515,350
ZDHIRE 33,498
datd (&%) o8 BB 50mam —0.1 Hiw 2£ 0.2
5




RERERMR

*

EHEE 2676 | =40 58 EHEES| 2676 |REIZHMEEER
BEl&# | FaRERB 1—FNo ER D& 1.00 {ERL BT = =25 anEzn| | BTESEE
# & [IUEET 1.90ha [ ao 12 - NEEAGE B = [[eEossosnss)
HR[E@N| % 1 =) 1% B = |BEfu| B m | = %28 | & m | & 28 3 HE | = 28
* 16| Bl = HEm RoGEMTEELERLE| 0560 A 47,100 26,376 47,100 26,376 0.000 0
* 17| Bl = HEh#E ReFZMTEEEHEE 528 A 36,900 41,328 36,900 41,328 0.000 0
* 18| BIEBF ReFZATEEEHEE| - 0.000| A 34,600 0| 34,600 0 0.000 0
* 19 B EFHBE RefFZ T EEEHEE 0.000 A 25,900 0] 25900 0 0.000 0
501 | M ER=XEHE] [HdeeEcndsas 1.500 % 67,704 1,016 0 0 0.000 0
& 68,720 67,704 0.000 0
=1 i 1.0 KLY 68,720
EEANE 67,704
ZDMEE 1,016

data ((B=) T3 UEmEE]10habl E +0.4 Z=%zmibe 5m 0




